

# Mathematics

(www.tiwariacademy.com)

(Chapter - 5) (Continuity and Differentiability)

(Class 12)

## Exercise 5.2

Differentiate the functions with respect to  $x$  in Exercises 1 to 8.

### Question 1:

$$\sin(x^2 + 5)$$

#### Answer 1:

$$\text{Let } y = \sin(x^2 + 5)$$

Therefore,

$$\begin{aligned}\frac{dy}{dx} &= \cos(x^2 + 5) \cdot \frac{d}{dx}(x^2 + 5) \\ &= \cos(x^2 + 5) \cdot 2x\end{aligned}$$

### Question 2:

$$\cos(\sin x)$$

#### Answer 2:

$$\text{Let } y = \cos(\sin x)$$

Therefore,

$$\begin{aligned}\frac{dy}{dx} &= -\sin(\sin x) \cdot \frac{d}{dx}(\sin x) \\ &= -\sin(\sin x) \cdot \cos x\end{aligned}$$

### Question 3:

$$\sin(ax + b)$$

#### Answer 3:

Let

Therefore,

$$\begin{aligned}\frac{dy}{dx} &= \cos(ax + b) \cdot \frac{d}{dx}(ax + b) \\ &= \cos(ax + b) \cdot a\end{aligned}$$

### Question 4:

$$\sec(\tan(\sqrt{x}))$$

#### Answer 4:

$$\text{Let } y = \sec(\tan(\sqrt{x}))$$

Therefore,

$$\begin{aligned}\frac{dy}{dx} &= \sec(\tan \sqrt{x}) \tan(\tan \sqrt{x}) \cdot \frac{d}{dx}(\tan \sqrt{x}) \\ &= \sec(\tan \sqrt{x}) \tan(\tan \sqrt{x}) \cdot \sec^2 \sqrt{x} \frac{d}{dx}(\sqrt{x}) \\ &= \sec(\tan \sqrt{x}) \tan(\tan \sqrt{x}) \cdot \sec^2 \sqrt{x} \left(\frac{1}{2\sqrt{x}}\right)\end{aligned}$$

# Mathematics

(www.tiwariacademy.com)

(Chapter - 5) (Continuity and Differentiability)

(Class 12)

## Question 5:

$$\frac{\sin(ax + b)}{\cos(cx + d)}$$

### Answer 5:

Let

$$y = \frac{\sin(ax + b)}{\cos(cx + d)}$$

Therefore,

$$\begin{aligned} \frac{dy}{dx} &= \frac{\cos(cx + d) \cdot \frac{d}{dx} \sin(ax + b) - \sin(ax + b) \cdot \frac{d}{dx} \cos(cx + d)}{[\cos(cx + d)]^2} \\ &= \frac{\cos(cx + d) \cdot \sin(ax + b) \cdot \frac{d}{dx} (ax + b) - \sin(ax + b) \cdot [-\sin(cx + d) \cdot \frac{d}{dx} (cx + d)]}{\cos^2(cx + d)} \\ &= \frac{\cos(cx + d) \cdot \sin(ax + b) \cdot a + \sin(ax + b) \cdot \sin(cx + d) \cdot c}{\cos^2(cx + d)} \end{aligned}$$

## Question 6:

$$\cos x^3 \cdot \sin^2(x^5)$$

### Answer 6:

Let  $y = \cos x^3 \cdot \sin^2(x^5)$

Therefore,

$$\begin{aligned} \frac{dy}{dx} &= \cos x^3 \cdot \frac{d}{dx} \sin^2(x^5) + \sin^2(x^5) \cdot \frac{d}{dx} \cos x^3 \\ &= \cos x^3 \cdot 2 \sin x^5 \cos x^5 \cdot \frac{d}{dx} x^5 + \sin^2(x^5) [-\sin x^3] \cdot \frac{d}{dx} x^3 \\ &= \cos x^3 \cdot 2 \sin x^5 \cos x^5 \cdot 5x^4 - \sin^2(x^5) \sin x^3 \cdot 3x^2 \end{aligned}$$

## Question 7:

$$2\sqrt{\cot(x^2)}$$

### Answer 7:

Let  $y = 2\sqrt{\cot(x^2)}$

Therefore,

$$\begin{aligned} \frac{dy}{dx} &= 2 \cdot \frac{1}{2\sqrt{\cot(x^2)}} \cdot \frac{d}{dx} [\cot(x^2)] \\ &= \frac{1}{\sqrt{\cot(x^2)}} \cdot [-\operatorname{cosec} x^2] \cdot \frac{d}{dx} x^2 \\ &= \frac{1}{\sqrt{\cot(x^2)}} \cdot [-\operatorname{cosec} x^2] \cdot 2x \end{aligned}$$

## Question 8:

$$\cos(\sqrt{x})$$

www.tiwariacademy.com

A Free web support in education

# Mathematics

(www.tiwariacademy.com)

(Chapter - 5) (Continuity and Differentiability)

(Class 12)

## Answer 8:

Let  $y = \cos(\sqrt{x})$

Therefore,

$$\begin{aligned}\frac{dy}{dx} &= -\sin(\sqrt{x}) \cdot \frac{d}{dx} \sqrt{x} \\ &= -\sin(\sqrt{x}) \cdot \frac{1}{2\sqrt{x}}\end{aligned}$$

## Question 9:

Prove that the function  $f$  given by  $f(x) = |x - 1|, x \in \mathbf{R}$ , is not differentiable at  $x = 1$ .

## Answer 9:

At  $x = 1$ ,

$$LHD = \lim_{h \rightarrow 0} \frac{f(1-h) - f(1)}{-h} = \lim_{h \rightarrow 0} \frac{|1-h-1| - |1-1|}{-h} = \lim_{h \rightarrow 0} \frac{h}{-h} = -1$$

$$RHD = \lim_{h \rightarrow 0} \frac{f(1+h) - f(1)}{h} = \lim_{h \rightarrow 0} \frac{|1+h-1| - |1-1|}{h} = \lim_{h \rightarrow 0} \frac{h}{h} = 1$$

Here,  $LHD \neq RHD$ , therefore, the function  $f(x) = |x - 1|, x \in \mathbf{R}$ , is not differentiable at  $x = 1$ .

## Question 10:

Prove that the greatest integer function defined by  $f(x) = [x], 0 < x < 3$ , is not differentiable at  $x = 1$  and  $x = 2$ .

## Answer 10:

At  $x = 1$ ,

$$LHD = \lim_{h \rightarrow 0} \frac{f(1-h) - f(1)}{-h} = \lim_{h \rightarrow 0} \frac{[1-h] - [1]}{-h} = \lim_{h \rightarrow 0} \frac{0 - 1}{-h} = \infty$$

$$RHD = \lim_{h \rightarrow 0} \frac{f(1+h) - f(1)}{h} = \lim_{h \rightarrow 0} \frac{[1+h] - [1]}{h} = \lim_{h \rightarrow 0} \frac{1 - 1}{h} = 0$$

Here,  $LHD \neq RHD$ , therefore, the function  $f(x) = [x], 0 < x < 3$ , is not differentiable at  $x = 1$ .

At  $x = 2$ ,

$$LHD = \lim_{h \rightarrow 0} \frac{f(2-h) - f(2)}{-h} = \lim_{h \rightarrow 0} \frac{[2-h] - [2]}{-h} = \lim_{h \rightarrow 0} \frac{1 - 2}{-h} = \infty$$

$$RHD = \lim_{h \rightarrow 0} \frac{f(2+h) - f(2)}{h} = \lim_{h \rightarrow 0} \frac{[2+h] - [2]}{h} = \lim_{h \rightarrow 0} \frac{2 - 2}{h} = 0$$

Here,  $LHD \neq RHD$ , therefore, the function  $f(x) = [x], 0 < x < 3$ , is not differentiable at  $x = 2$ .